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QUESTION 1

An audit trace shows that TSO user TSOID1, with DBADM authority, is continually attempting to update a table in DB2
subsystem DSN1 that is not supposed to be updated. Which of the following will prevent access to the DB2
subsystem? 

A. REVOKE DBADM FROM TSOID1 

B. Change TSOID1\\'s access to DSNR resource class DSN1.TSO to NONE 

C. Change TSOID1\\'s access to DSNR resource class DSN1.BATCH to READ 

D. Change TSOID1\\'s access to DSNR resource class DSN1.BATCH to NONE 

Correct Answer: D 

 

QUESTION 2

Which of the following statements on roles and trusted contexts is correct? 

A. When a role is defined for a trusted context, the role always becomes the owner of any created objects. 

B. When a role is defined for a trusted context, the role associated with the binder always becomes the owner of created
objects. 

C. When a role is defined for a trusted context, the role specified in the OWNER option always becomes the owner of
created objects. 

D. When a role is defined for a trusted context, the role always becomes the owner of created objects, if the ROLE AS
OBJECT OWNER clause is specified. 

Correct Answer: D 

 

QUESTION 3

Which of the following is the best assurance for avoiding a table space scan when using a ROWID in a simple single
predicate of the form ROWID_COL = ? 

A. Create an index on the ROWID_COL. 

B. Use the RID function in the predicate. 

C. A table space scan is not possible due to the implicit index on ROWID_COL. 

D. Make sure the value is used in the same unit of work in which it was retrieved. 

Correct Answer: A 

 

QUESTION 4
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A DBA needs to load a table with several indexes and build the indexes in parallel to reduce the elapsed time of the load
utility. Which of the following load statements achieves the goal of the DBA? 

A. LOAD DATA INDDNxxxx INTO TABLE yyyy 

B. LOAD DATA INDDNxxxx INTO TABLE yyyy SORTBLD 

C. LOAD DATA INDDNxxxx INTO TABLE yyyy SORTDATA 

D. LOAD DATA INDDNxxxx INTO TABLE yyyy EXTERNAL 

Correct Answer: A 

 

QUESTION 5

DSNDB01.SYSLGRNX was recovered to a prior point in time. An application table space has to be recovered to the
current point in time. What RECOVER option should be specified in order to apply the necessary logs? 

A. LOGONLY 

B. TOLOGPOINT 

C. ERROR RANGE 

D. LOGRANGES NO 

Correct Answer: D 
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